CCR

o
DEA v
u ( v, U
v>0,u>0 ) 0
v>0,u>0 DMU
DMU
v,u DEA-CCR
DEA-CCR
Excel DMU
DEA
v,u DEA
Microsoft Excel
DEA-CCR
DMU
LP
DEA
DEA
DEA v,u
DEA v, u 3
v,u S=(S,,S,,S,)

Trial of discrete-score CCR model
Takashi KANEKOT Tomohiro OKUBO Masaaki SHINOHARA

and Keikichi OSAWA



X
y (3.1) DMU
u'y,
A = . (3.2)
i
(3.2)
DMU k
DMU k
A
P = k :1,...n) (3_2)
max{A, ,---, A}
1 2 1 2
2
2
3
1 2
4
[1]
1
DMU
DU 1(v) 1(ul) 2 (u2)
A 1 1 5
B 1 2 7
C 1 3 4
D 1 4 3
E 1 4 6
F 1 5 5
G 1 6 2

2 2 1
DMU
DMU 1(v1) 2(v2) 1(ug)
A 4 3 1
B 7 3 1
C 8 1 1
D 4 2 1
E 2 4 1
F 5 2 1
G 6 4 1
H 55 25 1
| 6 25 1
3 2 2
DMU
DU 1(v) 2(12) 1(u) 2(u2)
A 2 151 100 )
B 19 131 150 50
C 5 160 160 5
D i 168 180 n
E 2 158 o 66
F 5 255 230 0
G 3 235 20 88
H 3 206 152 80
| ki) 24 190 100
J 50 268 250 100
K 53 306 260 7
L 3B 284 250 120
4 1 2
DMU
DMU 1(v2) 1(u1) 2(u2)
A 0142857143 004 015625
B 0142857143 008 021875
C 0142857143 012 0125
D 0142857143 016 009375
E 0142857143 016 01875
F 0142857143 02 0.15625
G 0142857143 024 00625
Microsoft Excel 3
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DMU_ | LP_ 155(0.1,2)1S=(0,1,3)(S=(0.1.4)/S=(0.15)|S=(0,2,3)|S=(0,2.5))S=(0,35)|S=(1,2,3)|S=(1,2.4)| S=(1.2,5)|S=(1,3.4)[S=(1,35) S=(1.4 5)6=(1,2,105=(15,10

0.7142910.71429 0.714291 0.71429| 0.71429 | 0.714291 0.714291 0.71429 | 0.691 |0.69634 0.69968 | 0.69634 | 0.69968 | 0.69968 | 0.70673 | 0.70673

1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1

0.7 [0.69159]0.68772) 0.68772 | 0.68772  0.69688 | 0.68787 0.69489 | 0.69688 | 0.69159 | 0.69159 | 0.69919 | 0.69489 | 0.69881 | 0.69159 | 0.69159

0.75 10.743820.73323| 0.7176 | 0.71228 | 0.73151 | 0.74528 | 0.73617 | 0.74382 | 0.74382 | 0.74528 | 0.73323 | 0.73617 | 0.72308 | 0.74382 | 0.74382

1 1 10.98132(0.9754410.97544| 1 1 1 1 1 1 1 1 1099763[ 1 1

1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1

[e>) lnall Inal E=1 Kol K==1 b

1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1

6 2 1
DMU_ |LP [55(0,0,2)(S=(0,1,3)(S=(0,1,4)/S=(0,1 5)1S=(0,2,3)1S=(0,2.5)1S=(0,3,5)|S=(1.2.3)|S=(L.2.4){S=(1.2,5)[ S=(1.3.4)[S=(1,3 5)| S=(1.4 5)5=(1,2,105=(1,5,10

0.8571410.85501 | 0.80084 | 0.80084 | 0.80084 | 0.83421 | 0.81046 | 0.84298 | 0.85501 | 0.85501 0.85501 | 0.8244 | 0.84298 { 0.81905 | 0.85501 | 0.85501

0.63158) 0.63135] 0.61514 0.61514 | 0.61514  0.62475 0.61514  0.62721 [ 0.63135] 0.63135 | (.63135 | 0.62197 | 0.62721 | 0.62044  0.63135 0.63135

1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1

1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1

1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1

0.92308 0.92258 | 0.88837 | 0.88837 | 0.88837 | 0.90857 | 0.88837 0.913770.922580.92258 0.92258 | 0.9027 | 0.91377{0.89948 | 0.92258 | 0.92258

0.6 10.59833] 057186 0.57186 | 0.57186 0.58867 | 0.57186 0.59302  0.59833 | 0.59833 | 0.59833 | 0.58377 | 0.59302 { 0.58108 | 0.59833 | 0.59833

0.7741910.774021 0.7617110.76171{ 0.761711 0.769041 0.76171| 0.7709 | 0.77402]0.77402 0.77402 0.76693 | 0.7709 | 0.765770.77402 0.77402

—lT|o|Tmm|o|lo|o| =

0.75 |0.74967 0.72693] 0.72693 | 0.72693 | 0.7404 | 0.72693 | 0.74385 | 0.74967 { 0.74967 0.74967 | 0.73649 0.74385  0.73434 | 0.74967 | 0.74967

7 2 2

=
[

LP 15=(0,1,2)1S=(0,1,3)[S=(0,1.4)15=(0.1,5)S=(0,2.3){S=(0,2,5)[S=(0,35)[S=(L.2,3)|S=(L,2.4)|S=(1,2.5)|S=(1,3.4)|S=(1,3,5) S=(1,4,5)5=(1,2,105=(1,5,10

1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1

1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1

0.8827110.8804410.87852) 0.87742 | 0.8767 | 0.88205) 0.87933 | 0.88144  0.86629 | 0.87107 | 0.87408 0.87107 | 0.87408 | 0.87408 0.87546 | 0.87546

1 1 1 1 1 1 1 1 1098274) 09919 0.99627| 0.9919 |0.9962710.99627] 1 1

0.7635 | 0.757391 0.76035) 0.7621 | 0.761920.75497] 0.75909 | 0.75588 | 0.76035 | 0.7621 |0.76192 | 0.7621 | 0.76192) 0.7621 | 0.76192]0.76192

(.83477] 083345 0.83345 | 0.83345 | 0.83345 | 0.83345 0.83345| 0.83345 075351 0.77285| 0.78474 | 0.77285 | 0.78474 | 0.78474 | 0.8078 | 0.8078

(.90196| 0.88844  0.88717] 0.88956 | 0.88958 | 0.89842 0.88544 | 0.89462  0.89066 | 0.88956 | 0.88958 | 0.89656 | 0.88958 | 0.89801 | 0.88958 | 0.88958

0.79633| 0.7883 | 0.7883 | 0.79219[0.79395| 0.7883 | 0.7883 | 0.7883 | 0.78744|0.792190.79395] 0.79219 | 0.79395 | 0.79395] 0.79395 | 0.79395

0.96039| 0.9232 | 0.92196 0.92196 | 0.92196 | 0.95064 0.92196| 0.94021 | 0.90741) 090596 0.90851 | 0.92729 | 0.91107 | 0.93545 | 0.91447 | 0.91447

0.87065 | 0.87065 | 0.87065 0.87065 | 0.87065 | 0.87065] 0.87065 | 0.87065 0.82199 | 0.8362 | 0.84433) 0.8362 | 0.84433| 084433 0.85784 | 0.85784

0.9551 | 0943231 0.94323| 0.94323 | 0.94323 | 0.94323 | 0.94323 | 0.94323 1 0.90899 | 092102 0.92748 | 0.92102 | 0.92748 | 0.92748 | 0.93648 | 0.93648

mr=<l<|7|ceoo Mmoo |lo|= 1O

0.95682 | 0.92884 0.9206 | 0.92103 | 0.91969 095001 | 0.92029 0.94227 | 0.9298 |0.92103]0.92029 | 0.94322 | 0.92639 | 0.94745 | 0.92129 092129
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